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2.

Find all the values of 8in the range 0° < 6 < 360° satisfying 3sin26 = 2sin6.
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3. (a) Expresscos6+ ﬁ sin@ in the form Rcos(6 — &), where R >0 and 0° < v < 90°. [3]
(b)  Find all values of 8 in the range 0° < 6 < 360° satisfying

cos 6+ xﬁ sinf=1. 4]
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3.

(a)  Find all values of 6 in the range 0° < 0 < 360° satistying
2c0s260=9cos0+17. [5]

(b) (1) Express 5sinx — 12cosx in the form Rsin (x — ), where R and ¢ are constants with
R>0and 0° < x<90°.

(ii)  Use your results to part (i) to find the least value of
1
5sinx—12cosx+20

‘Write down a value for x for which this least value occurs. 6]
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(a)  Find all values of x in the range 0° < x < 180° satisfying
tan2x = 4tanx. [5]
(b)  Express 7cos +24sin6 in the form R cos(6— ), where R and & are constants with
R>0and 0°<a <90°.
Hence, find all values of 0 in the range 0° < 0 < 360° satisfying

7cos@ +24sin6 = 16. [6]
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3.

(a) Find all values of 6 in the range 0° < 8 < 360° satisfying

(b) ()

(ii)

(ii1)

4cos20=1-2sinb.

Express 8sin x + 15cosx in the form Rsin (x + o),

where R and o are constants with R >0 and 0° <o < 90°.

Find all values of x in the range 0° < x < 360° satisfying

8sinx + 15cosx = 11.

Find the greatest possible value for k so that
8sinx + 15cosx =k

has solutions. Give a reason for your answer.

(0]

(71
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(a)  Find all values of @in the range 0° < 6 < 360° satisfying
8 cos20+ 6 =cos20+ cos 6. [6]
(b)  Express /15 cos@—sin@ in the form Rcos(8 + ), where R and o are constants with
R>0and 0°< ox <90°.
Hence find all values of @in the range 0° < 6 < 360° satisfying

JI5 cos@—sin9=3. [6]
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3. (a) Findall values of x in the range 0° < x < 180° satisfying
tan2x = 3 cotx. [4]

(b) (i) Express 21sin6 —20cos 6 in the form R sin (6 — o), where R and o are
constants with R > 0 and 0° < o: < 90°.
(i)  Use your results to part (i) to find the greatest value of

1
21sin6 — 20cosO + 31

Write down a value for 8 for which this greatest value occurs. [6]
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3.

(a) Find all values of x in the range 0° < x < 180° satisfying
tan(x + 45°) = 8tanx.

(b) (i) Express +/13sin@-6cos 6 in the form Rsin (6 — ),

where R and o are constants with R >0 and 0° < oz < 90°.

(i)  Find all values of 8 in the range 0° < 6 < 360° satisfying

J13sin—6cos 6 = —4.

[3]

[6]
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(@)

(b)

The angle x is such that 0° < x < 180°, x #90°.
Given that x satisfies the equation 3tan2x + 16cot2x =0,
(i) show that 3tan3x—8tan2x +8 =0,

(i) find all possible values of x, giving each answer in degrees, correct to one decimal
place. [8]

Express 24 cos 6 — 7sin @in the form Rcos (6 + ), where R and « are constants with

R>0and0° < o <90°

Hence, find the range of values of k for which the equation

24cos0 —-7sin@=k

has no solutions. [5]
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3.

(@)

(b)

Show that the equation
5cos26 + 7sin26 = 3sin26
may be rewritten in the form
atan20+ btan6+ ¢ =0,

where a, b, ¢ are non-zero constants whose values are to be found.
Hence, find all values of @in the range 0° < 6 < 180° satisfying the equation

5cos20 + 7sin26 = 3sin26. [6]
(i) Express \/gcosq)+ «/Hsinq) in the form Rcos(q) —a), where R and o are
constants with R > 0 and 0° < o < 90°.

(i)  Use your result to part (i) to find the least value of

1
\/gcosq)+x/ﬁsinq)+6 ’

Write down a value for ¢ for which this least value occurs. [6]




image16.png
(a) Find all values of 0 in the range 0° < 6 < 360° satisfying

2cos 20 = 35sin%6 — 5¢os20 + cos 6 + 1. [6]

(b)) (i) Express12sing—5cos¢ inthe form Rsin(q) - oc) , where R and « are constants
with R > 0 and 0° < o < 90°.

(i)  Hence find all values of ¢ in the range 0° < ¢ < 360° satisfying
12sin¢ — Scos¢ =-2. [6]
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4.

(a)  Find all values of 8 in the range 0 < 8 < 360° satisfying
sin26 = cos6.
(b)  Find all values of 8 in the range 0 < 8 < 360° satisfying

4sin@+ cosf =2,

giving your answers in degrees correct to one decimal place.

(4]

[l
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3. Find all values of 0in the range 0° < 8 < 360° satistying

2+ 3c0s26 = cos 6. [6]
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4. (a) Express 4sin x + 3cos x in the form Rsin(x + &), where R and ¢ are constants with R > 0 and
0° < < 90°. [3]

(b)  Hence find the greatest value of

S S— 2]
4sinx+ 3cosx+7
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3. Find all values of x in the range 0° <x <360° satisfying the equation 4cos.x + 2sin.x = 3. [7]
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3. (a) Express 3cosx + 2sinx in the form Rcos(x — ), where R and « are constants with R >0 and
0° < < 90°. [3]

(b)  Find all values of x between 0° and 360° satisfying

3cosx + 2sinx = 1. [3]




